#!/usr/bin/env python
# -*- coding: utf-8 -*-

# Import modules

sys
Bio SeqI0

# Parse user input

fasta file = sys.argv[l] # Input fasta file
output file = sys.argv[2] # Output stat file

# Declare variables

nb seq = 0

shortest len = 999999999
shortest seq = "Not found"
longuest len = 0
longuest seq = "Not found"

total len = 0.0 # Nombre decimal
nb A
nb C
nb G
nb T
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# Treat fasta file

fasta sequences = SeqIO.parse( (fasta file), 'fasta')
s fasta sequences:
seq = s.seq.tostring()
len _seq = (seq)
seq.upper().count("N") / len seq < 0.3:
# exemple: print good sequences to file 1

# print bad sequences to file 2
nb seq += 1
total len += len_seq

nb_ A += seq.upper().count("A")
nb C += seq.upper().count("C")
nb_ G += seq.upper().count("G")
nb T += seq.upper().count("T")
(seq) < shortest len:
shortest len = len_seq
shortest seq = s.id
len seq > longuest len:
longuest len = len_seq
longuest seq = s.id
# Print statistics
“Nb. seq: " + (nb_seq)
"Nb. seq: %06i tin file (%s" % (nb_seq, fasta file)
"Shortest len:\t" + (shortest len) + " bp"

"Shortest seq:
"Longuest len:
"Longuest seq:
"Longueur moy:

shortest seq

(longuest len) + " bp"
longuest seq

(total len / nb_seq)

+ + + +

o At o+ (100 * nb_A/total len)
o Cin " o+ (100 * nb_C/total len)
"% G:\t" + (100 * nb_G/total len)
o Tt o+ (100 * nb T/total len)
"% other:\t" + (160 - 100 * ([nb_A, nb C, nb G, nb T]) / total len)

(output_file, "w") f:
.write("Shortest len: " + (shortest len) + " bp ")
.write("deuxieme ‘ligne ")
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